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3. The area of the region between the parabola y = 22 and ’
the line y = z from = = 0 to x = 2 is equal to /
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9. The length of the curve of y = %(.r2 +2)*2 from z = 0 to
r = 3 is equal to
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7. The series L ) is én = n’ 7Y
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9. The series ¥ (tan™! n)" is
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11. /62‘” sinzder =T B:) Parts
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13.

14.

The volume of the solid generated by rotating the region \j
bounded by the curves y = coshz, r = 0, z=1landy=0
about the y-axis is given by
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15.
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The first three nonzero terms of the Maclaurin series of the
function f(r) = In(2* + z + €) are
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19

20.

If T5(z) is the Taylor polynomial of order 2 generated by
the function f(r) = 2! at @ = 1, then T5(2) =
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21.  Using the binomial-series. when |z] <X), then v/1+ 9z =
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x 1
23. The series i
g (V3n+1-1)3n+1 =
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(b) Convergent by the limit comparison test
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(c) Divergent by the ratio test

(d) Convergent by the Comparison test
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25.  The coefficient of z* in the Maclaurin series of _. = is
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27. /cos(Br) sin®(2z) dr = S OJ%(F’?L) (’ C%qu)) Jr_

28.
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The base of a solid is the region bounded by the parabola
y = x* and the line y = 2z in the first quadrant. If the
cross-sections perpendicular to the r-axis are semicircles
with diameters running across the base of the solid, then

the volume of the solid is given by
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